BOARD EXAM QUESTIONS
Class: XII F Sub: Mathematics Ch. Matrices

One mark Questions

=

Write a square matrix of order 2, which is both symmetric and skew symmetric.

Find the value of xif | 7Y 4 |=| ® 4
5 3y| |-5 6

3. Find the value of xif [~ S| X|=[>
4 5)2) 6

3 47 [5 4
a 0f " - find x and y.
y-4 x+y| [3 9

5. Construct a 2 x 2 matrix whose element a; = i + 2j.

1
6. Findxandyif 2 3 + y 0 = > 6
10 X 1 2 1 8

7. fA=[1 2 3], write AA’.

g 1f| >V YLl Zlhnaxey.
2y—-x 3 5 3

o 1517 2|2[% ?lfiny.
x 5|73 5

10. Find the value of x if [ZX; y 5} _ {6 S }

N

y 3 -2
2x 5 7 5
1 f [ YT 2 find value of .
-x 3 -2 3
2 3 -5 2 1 -1
12. If A= [aij] =1 4 9 [:B :[bij] = | -3 4 4 | find the value of ay, + by;.
07 -2 1 5 2
3x-2 5 3 5
13. If X=<y = find the value of y.
X -2 |-3 =2
7 5 =21 5
14. If Y = find the value of x.
2x-3y -3 11 -3

cosa —Sina . o :
15. IfA= ( ) ] then for what value of « is A an identity matrix?
sinad  cosa

1 2)(3 1 7 11
16. If =
3 4/(2 5 k 23
) (3 4\ (X 19
17. Find the value of x if =
2 x)\1 15

cos —sin
18. If A= ( “ a] then for what value of ¢ is A+ A’ =1

sina  cosa
X+Yy+12 9
19. Write the value of x —y + z from the following equation: | x+z |=|5
y+12 7




| |

1
20. Write the order of the product matrix: | 2| [2 3 4].
3
|3i + j|
2

21. Construct a 2 X 2 matrix A = [a;] where : 1) a;;= i) ajj =

5 3 0

22. Find matrix X suchthat B—2A + X =0, if A= { 3 J and B = [3
a o0 0 a

23.0) IfA= find A® i) If A= find A®
0 a 0 0

24. Write two non — zero matrices A and B such that AB = O

4 marks/ 6 marks Questions

1. Using elementary transformations find the inverse of the following matrices:

01 2 1 2 3 2 -1 4 3 0 -1 1 2 =2
|1 2 31ii)|2 5 7 iii)|4 0 2| iv)|2 3 0 v)|-1 3 0
311 -2 -4 -5 3 -2 7 0 4 1 0 -2 1
20 - 2 5 3 2 6 5 3 -1

vi)|[5 1 O Vii) viii) iX) X)
1 3 7 5 5 4 -4 1
01 3 -

2. Express A as sum of a symmetric and a skew — symmetric matrix:

3

A= |4
0

1

3. IfA=|2
2

2

4. IfA=12
1

-2
-2

2 5 3
ifA= |3
101

3
7

-1

—4
-5
2

1
6

2 2

1 2| verify that A2~ 4A-51=0
2 1

0

1

1
3| then find the value of A% —3A + 2I
0

5 If A=|-4|,B=[-1 2 1] verify that (AB)’ =B’A’

3




